Chain Rule Part 1, October 25, 2017

WARM-UPS

1. Given F(z) = f*(g(x)), 9(1) = 2,¢'(1) = 3, £(2) = 4, f'(2) = 5, find F'(1).
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2, Suppose f(z)is dlﬂerentmble such that f(g(z)) = z and f/(z) = 1+ (f(z))?. Find ¢'(z).
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1. Finji the equation of th:’ tangent lines to 4z + y2 = 72 that are perpendicular to 2y+z + 3 = 0.
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PROBLEMS:
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Substrtub inko Chrve s Hx*s Hx? = 72
X*=q = X=#+3.

X=3/ j:’c" fromb of | j—(" =°,Z‘(X_3>

x=-3, Y=~ | tangen +6 =2(x+3)
2. James Bond orders a martini at abar. How fast is the height of the liquid inside the glass changing?
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